
Spiel 1 Spiel 2 Gesamt

Spiel 112 15:06 I 1 RUMETSHOFER Martin 61 + 51 = 112 # # O

I 2 DOMANI Manfred 64 + 57 = 121 #

Spiel 114 15:24 I 3 UNTERSTEINER Johann 58 + 51 = 109 #

I 4 KÜLLINGER Andreas 50 + 60 = 110 #

Spiel 116 15:46 I 5 ACHLEITNER Christian 57 + 57 = 114

I 1 RUMETSHOFER Martin 58 + 55 = 113 # #

Spiel 118 16:04 I 2 DOMANI Manfred 55 + 63 = 118 # #

I 3 UNTERSTEINER Johann 45 + 59 = 104 O #

Spiel 120 16:18 I 4 KÜLLINGER Andreas 42 + 61 = 103 #

I 5 ACHLEITNER Christian 55 + 62 = 117 #

Spiel 122 16:35 I 1 RUMETSHOFER Martin 53 + 57 = 110 O

I 3 UNTERSTEINER Johann 51 + 44 = 95

Spiel 124 16:50 I 2 DOMANI Manfred 50 + 56 = 106

I 4 KÜLLINGER Andreas 63 + 56 = 119 O O # #

Spiel 126 17:06 I 3 UNTERSTEINER Johann 50 + 60 = 110 # O #

I 5 ACHLEITNER Christian 56 + 58 = 114 O

Spiel 128 17:23 I 4 KÜLLINGER Andreas 58 + 55 = 113

I 1 RUMETSHOFER Martin 54 + 51 = 105 O #

Spiel 130 17:40 I 5 ACHLEITNER Christian 56 + 67 = 123 # O

I 2 DOMANI Manfred 54 + 61 = 115 #


